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SHOW ALL WORK!! BOX YOUR ANSWERS.

Find the value of x in the following parallelograms:
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Find the value of x in the following trapezoids:
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Answer each question. Show your work and box your answers,

The sides of parallelogram 4BCD
are represented as shown,

Find D4.
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Given parallelogram 4BCD with

m<B = 5x and m<C = 3x+4,

Find the number of degrees in 2D.
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10. In rhombus ABCD, m<ECB = 5a+4

and m<EBC = 8a - 5.

Find m«EBC.
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11, Given square ABCD with diagonals AC, BD.
IfDB=7x+ | and AE = 2x + 11, find EB
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12.Gj 'eQarallelogmm ABCD, labeled
s Showpe, Find @ and b.
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13. Given square CANE with diagonals
intersecting at B. m<£CNE = 3a +2b,
AC=35,andCE=6a+5.

Find the value of @ + b.
u a+H= e @)
ba=2%0
a=5

3(s5)+ b =45
2b=30




